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SSC Practice Set-6

If the sum a number and its reciroccal be 2, then
the number is

Ife Us GEAT iR 3UF FhA HT AT 2 € @l 98 wE
ferat Erit

(a) 0 (b)1 (c)-1
The area of a rectangle in 60 cm“ and its
perimeter is 34 cm, then the length of the
diagonal is

TS A &T &A% 60 aif A1 § AT U uftwg 34
/.4t §1 A Uk fawvt @t ewarg fhaet gri?
(a)17cm  (b) 11 cm (c)15ecm  (d) 13 cm

A cloth merchant has announced 25% rebate in
prices. If one needs to have a rebate of Rs. 40,
then how many metres of cloth costing Rs. 32
per metre he should purchase.

& HUST- R 3 Ut HiFdt § 259% GE i ST &,
TIHER I fret &t ® 40 F Fe A F, @ W € 32
gfq M aret HUS T fehaq WX HUST @l gRm?
(a) 6 cm (b) 5 cm (c)10ecm (d) 7 cm

A point of Rs. 960 is divided between A and B in
the ratio 1/3 : 1/ 2 . The difference of their profit
is:

Rs. 960 & TIH®HI A AAMBH 1/3:1/2 . & U@ |
FieT AT §1 3% I T =R T gRM?

(a) Rs 120 (b) Rs. 160 -~ (c) Rs. 294 (d) Rs. 245

(d) 2
2

A T.V. was sold at a profit of 5 % if it had been
sold at a profit of 10% , the profit would have
been Rs. 1000 more. What is its cost price?

T& 2.6t 5% 9 X = T4 gl 3@ 10% T T S
ST @ Rs 1000 &1 3Tf8& o9 giaT | SH&T &d-Tod
qargu?

(a) Rs'20000 (b) Rs. 5000

(c) Rs. 10000 (d) Rs. 15000

The price of an article is decreased by 10%. To
restore it to its former value, the new price must
be increased by :

ferelt ag & goI A 10% 1 HH & T B1 T GO I
W o & fou & gog | fert gfg s gig git?

@9%% ®10%  (¢)11% (d)ll%%

8.

10.

11.

12.

13.

14.

15.

A moving train passes a platform 50 m long in 14
seconds and a lamp post in 10 seconds. The
speed of the train (in km/h) is:

T derdt g8 Iennel fREl 50 Hiel oW Wie @ 14
Aavg U 31T U fasielt & @9 &t 10 GHUE ¥ U HTat
21 IenEt &t = (fepw./ €er) W o= g7

(a) 24 (b) 36 (c) 40 (d) 45

If 2 +1/ x2 = 2, then the value of x — x is

g 2 + 1/ 22 = 2 B, @ x - Vx & A FA3U?

(a) -2 (b) 0 (©1 (d)-1

If ra(p+qg =1, Then the value of

ﬂ—p?’ — q3 is equal to

pq

afe pgp+g@ =1 @ @ 31 ;- p°—q® @ Ww FN
pq

grm?

()1 (b) 2 (c)3 (d) 4

A chord of length of 16 cm is drawn in a circle of
radius 10 cm. The distance of the chord from the
centre of the circle is

16 9, Tt Ueh Sitan &t 10 9wt Hrewn aret ga o wien
ST 81 99 & g | A &t gil qargu?

(a) 8 em (b)6cm (c) 4cm (d) 12 cm
An angle in a semicircle is

forelt snefgm & T F ER?

(a)45° (b) 60° (c)90° (d)120°

If x = acosB+bsinb and y = bcos0 - asinb then

x2+y%is equal to

IfE x = acosB+ bsind 3T y = bcosd — asind &
x2 +y2 & UE = gEN?

(a) ab ba?+b2 (©a?-b% (D1

A can do a work in 12 days while B can do it in 15
days. They undertake to complete it together for
Rs. 450. What will be the share of A in this
amount of money?

A T& & &t 12 7 § g0 &Y har § Sais B 39 15
& o g0 X ST § | 9 S€ U@ Ay et ® 450 A
FH & TGR B A &1 TH gAY § A & T fma
grT?

(a) Rs 200 (b) Rs240 (c) Rs. 250 (d) Rs. 300

If x = V2 + 1, then the value ofxt-1/x%is
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16.

17.

18.

19.

20.

21.

e x = «/E+1,@?ﬁx4 ~1/ x* &1 9 e grm?

@8/2  1&V2  (©6V2  (d) 24V2

If9x2 + 16y2 = 60 and 3x + 4y = 6, then the value

of xy is

T 9x2 +16y% = 60 M 3x + 4y = 6 B @ xy T AN

T g ?

(a)-1 (b) 1 (c) -2 (d) 2

If in AABC, DE||BC, AB="1.5 cm BD = 6 cm and

DE = 2cm, then the length of BC in cm is:

afe AABC,DE||BC,AB=17.5 @Wt BD = 6 &,

DE = 2 ¥t §, @ BC & o 9wt § & gri?

(a) 6 (b) 8 (c) 10 (d) 10.5

Suppose that the medians BD,CE and AF of a

triangle of ABC meet at G. Then AG : GF is

A wifse fe fedt ABC freior &t wiftaestd BD, CE

3 AF fog G X Taerdt 81 @ AG: GF &1 gnm ?

(a)1:2 b)2:1 ()1:3 (d2:3

If cosb gosh_ | 4 then the value of
1-sinf 1+ sinbd

6(0<6<90°)is

cosh_, 080 __ 4 H 60<6<90°) T W
1-sin® 1+ sinb
T
(60°  (B45°  (@©30°  (d)35°

A sum of Rs. 2000 amounts to Rs. 4000 in two
years at compound interest. In how many years
does the same amount becomes Rs. 8000.

Ifg 2000 & TR TAwHghg =Tt WX 2 T8 H & 4000 &
St 81 g i fhaw auf & ® 8000 & ATwHt?

(a) 2 (b) 4 (c) 6 (d)8

Two ships are sailing in the sea on the two sides
of a light house. The angle of elevation of the top
of the light house as observed from the two
ships are 30°and 45° respectively. If the light
house is 100m high, the distance between the
two ships is : (take V3 =1.73)

U | & UId Y19 W & gl SN I 1@ 1 g il
| @A W TSV W & I & I9aT S0 HAI: 30°
3T 45° B\ Al W19 WH 100 WeT Ham & df & urat
& sta @i gt FaT3L? (IE WHA gU T /3 = 1.73)

(a) 178 m  (b)200 m (0)273m (d) 300 m

The following figure shows the number of
students (in thousands) admitted and passed

23.

24.

25.

out per year in a college during years 2000 to
2004. study the figure and answer the questions.
Trafaf@a suwfa ® fardlt et & ad 2000 & a9 2004
ae fd o wdl gu ik seitef gu onl @t Temn(Eer #)
ToTlet 7T B 1 MHTT HT LTI HY UyAl & IUT fvra?

[ ]

[l

e
A O © O N

Number of Students (1000)
N

o

2000 2001 2002

——>Year

2003 2004

The precent increase in the number of students
admitted in the year 2003 over that in 2001 is

¥ 2001 St FoT § a9 2003 W WA g SEHEI Ht WG A
g% ufave gfg fwat 82

(a) 133.3 (b) 33.3 (c) 40.3 (d) 66.7
During 2000 to 2003, the ratio of the total
number for the students passed out to the total
number of students admitted is

¥ 2000 ¥ 2003 ® WAl g BH Ht HeT TEAT I IO
§U BTl &t T AT HT U FTq HHTL?

(a) 17/23 (b) 17/6 (¢) 11/23  (d) 5/7

In which of the two years, the pass percentage of
students was betwen 60 to 70?

HE-W & qE § SEN HT I AGYTE 60 ¥ 70 F s
oi?

(a) 2000 and 2001
(c) 2001 and 2002
The ratio of the number of student in the year
2002 to the average of the number of students
passed out in the years 2003 and 2004 is.

¥ 2002 ¥ Wl gU B & W@ AR ad 2003 9T
2004 ¥ 3iUl g BET @l W@ & IHEA & I’TUE
FAT3T?
(a)7:8

(b) 2003 and 2004
(d) none of these

(b)8:9 (©9:8 ds8:7
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— ANSWER KEY
1. (b) 2. (d) 3. (b) 4. (d) 5. (b) 6. (@) 7. (d) 8. (d) 9. (b) 10. (¢)
11. (b) 12.(¢) 13.(b)  14.(c)  15.(d)  16.(a) 17.(c) 18 (b)  19.(a) 20. (b)
21. (c) 22.(b) 23.(d) 24.(a)  25. (%
HINT & SOLUTINS
1. First Method : 1%o0 — itﬁo
qATEEAT = & 32
Wﬁﬁ:xl 160%%:53% Ans.
AR — ) 960
N jil
x2+1=2 35
22-241=0 ((a-b2=a2+b2—2p S
(x-1D2=0 960
x-1=0 5 : 3 Difference Sum
x =1 ¢ ¢B 2 8
Second Method : e
x+xl:2 %u:%:mozo
Only x =1 satisfies thiseq First Method :
So, x =1

number =1

2. IEd & fo (A) = 60 cm 2.

ST T URHY = 34 T
2(a+b) =34

a+b=17 a
A=axb
60 =axb

17 =a+b
60

/N

12 5

12x5=60=axb
1245=17=a+b

a=12
b=5

qTa B Tt = 4122 + 52 e
- /169
=13 9o

= idi

25%21-—>Q. (discount)
4 - 3f&Hd o Mp)

B 40 Fo Ht

25% = B% =

3.

1x40
4 x40
I 579 40 & 1 T ST, 79 Sifohd T 160 To I
FHIS H HIAT = 32Fo/Hlo
32%0 — 1Hlo

19 HeEl o1 Sid A a9 = 16000 Fo
19 T& &1 F& 99 = 16000 x 19 = 304000 Fo
20 9 WEH & dd9 = 20000 To
20 TSE H1 FaA 9a7 = 304000 + 20000 Fo
= 324000 o
20 TS 1 g Ia

o 524000 16200 %o
20

Second Method :

19 He&l &1 #Ed 9a9 = 16000 %o

20 I WS H1 A = 20000 To

Ig a1 3R 16000 Fo BIdl

@ |l (20) T T ST IqT 16000 Fo B STl
AfeHT =8 16000 ¥ 4000 31 2

39 37 4000 To HI 20 IS& H dmde HU
4000

W=2006c>
71 a9 | 200 1 ghg B ST
T 20 A 1 3itEd o
= 16000 + 200
= 16200 %o

AAT T.V &1 Y Ho (Cp) =100 unit
Cp= 1007unit

) 0o
o /0%37

Sp = 110 unit

55
Sp =105 unit
A~ = Sunit
T H ST (A1) = 1000 Fo
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5unit — 1000 %o x2+i2:2
lunit — 200 %o x
100unit — 20000 %o 12
x-—— +2=2
1
7. First Method : * 1\2
100 — 1o FA (x__ -0
10 — T Ho x|
gaa[alo x—l=0
x
\2
1 wdfto +%qﬁ_ﬁ' (x_l :x2+i—2
x| 2
F‘E‘I[Bio 2
3
1 9c2+i2=(x—l +2
=11§%q&q x x )

Second Method :
I IR o = 100 To
10% 1 &H & 9E 7 = 100 — 10 = 90 unit

318 38 90 2 1 100 1 A @ i _ 1
90 gfZ = 100 unit i p+q
Ifg = 10 3f= | N ...
e = 19« 100% i ' pq
901 i T #AR cube (¥F) FH W—
=g i P 3pa(p+ )
! p3q3
8. Il + WewH = 14 Ho i 1 3_ 3 _
; . -p°-q° =3pg(p+q
T 3 =100 i p?’q3
T = 4 Ho i prap+q =1 (given)
50 o =4 o ! 1 3 3
50 25 ! 33 P 9 =3x1
T R = = 22 = 22 Wo/Ho ; p°q
4 2 : 1 3t s
:2—;><1—58Wo/‘aia ! p3g3
‘ = 45 feRdto/®r 11
TET W i o T T S i
.+ 98 TH point Tl TE HH HLMI i
9. 2 1 i
e e | 3 S, S R A R § e e & e R
1, T T 3 (Sn) W SRR W F e e 2
X —— = 1
: e
2 1 |
x“+—==2 !
x? i A
Ig Hadl A HF Sa— i NG
x=1 o x=-1 i AOCA — THSI A
Put X = i o
g=L=1-1=0 0c? =JoA? - AC?
Put * . ! 10 - J100-64
u x =- i o
L1, @ | = 36
x (-1 i A 8 @ OC =6 cm
-1+41=0 i
Second Method : i
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12. c x4_i:?
x4
A B x=+2+1
11
. x J2+1
STEgT T I HIUT GHH (90°) B B L fao1
) = X
13. First Method : J2+1 J2-1
x = acosB+ bsinb l:«/g—l
y = bcosO— asinf x 1
2 2
xZ4y? =2 il VZe1442-1
T S © x
Ife ax +by =m x+==2J2
x
bx—ay=n 1
2 ol 2
qa?+b2)x2 +y2) = m? +n2 x +x—2 (22)% -2
Similarly ‘ -89
ac0s8+bs?n9—x x2+i:6 e
bcosB—-asinb =y x2
(a2+b2)(cos229+ si2n29)=(x22+y22) x4+i—(6)2—2
(@®+b )x1=x"+y x4
9c2+y2=a2+b2 x4+i=34
Second Method : x4
x = acosB+bsinb L@ x2_i2: 349
x2 = (a cosB + bsin9)2 X
=a?cos?0+b2sin20+ 2abcosh 1 =32
sin® ...(0) 2% - =42 (i)
y = bcosB— asinb ...(11)

(i) & (ii)

2 . 2
y“ =(bcosB— asinb) 3 3
(xz+i (3c2—i =6 x4+/2

2] x21

1

4

= b2 cos20+ a2 sin?0= 2ab cosh

sin® - ...(i1) X

4
G) + (i) x* - x— =242 Ans.
x2 +y2 = a?cos?0+ b2 sin? 0+ 2ab cos

sin® + b2 cos20 +a? sin2 0 — 2ab cosA sind
= (12(cos2 0 + sin? 0) + b2

16. 9x2 +16y2 = 60

3x+4y =6
(cos2 0+ sin? @) xy =7?
9c2+y2=a2+b2 3x+4y =6

x2¥y? =a? 402

sinZ0+cos20 =1

i (square) TA 3R
9x2 +16y2 + 2% 3x x 4y = 36

60 + 24xy = 36
14. A B &hel &l 24xy =36 -60 = -24
Time 12 15 60 xy =-1

Efficiency 5 4 (a+b)2 =a?+b%+2ab

&

h[H
Wf&*”ﬂb% 17. DE || BC
450 AB = 7.5 gtto
BD =6 ¥to
54 DE = 2 &0, BC = 2
< AT H T SR R el % STu € | S 2
99qfe — 450%o
A = 5FAfe —)%x5:25030
15. x=+2+1 AD _DE _ AE
AB  BC AC
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15 _ 2 =100+/3 + 100
7.5 BC = 1003 + 1)
%=% =100(1.73+ 1)
=100 x 2.73
BC =10 9o _ 973 10
18. A Second Method :
E D
B E C

STel A oh1 di=l TiEereRt ferdt € @8 fog (G) — ek
(Centroid) F&aTdl 71 e 2l

gk HITETeRt 1 3 | 2: 1 H fawifa e @ AB
ie., AG:GF =2:1 30
19. cosfB cosB o t
1-sin® 14 sinf j
cosB(1+ sinB) + cosB(1 - sin6) _ 4
(1- sin0)(1+ sin) 100
cosB + cosBsinf + cosB — cosecO sinB AAOB ¥
= =4. AB BO
1-sin“6 _l_ T
2cosB
g =4 45° 45°
cos“ B 1 1
1
cosH = 5 = cos60 100 100

00! = 0B+ BO! = 10043 +100

6 = 60°
=100(~/3 + 1) = 100(2073) = 273 o
20. 2000 Rs. :
2 apt A000Rs. 22. 2001 # wdf B = 1000
8000 Rs. .
L 2003 ¥ 9l B3 =12000
4 o
e st ot 9fg = % x 100%
2T E = 2T H 3
AT = 22 THER= 2% 2= 4T =g X100
= 3333%

21. First Method :

A 23. 2000 ¥ Wdl B = 6000
L 2001 ¥ i 13 = 9000
100 .
3o 2002 H i 319 = 8000
s L Bag 2003% s w3 = 12000
35000
A B g TR T 2000 & 30T BT = 4000
AAPB ¥ AABOjB 2001 & B = 9000
tan30 = O 2002 H 57df S = 8000
1 100 2003 & Wi wm = 2000
4 _10 25000
V3 OB I BE: 7t
‘ OB =100+3 o 95000 - 35000
AABO' ¥ )
5 : 7
AB
tan4bh® = — ;
BO 24. 99 2000 ® Wt B = 6000
1= % It B = 4000
' 4000 2
BO' =100 To ¢ = oop <100 = 3 ¥ 100
00' = OB + BO'
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9 3

W%Exloozzxwo:%% IE SSC A W& fe=n an

— 6629 ; Td 2004
‘ 3 i Wit ®15 = 11000
¥ 2000 H ! A B = 9000
T BT = 9000 | i = 2 = 81
| =2 =81-%
ST BT = 6000 ; ST 11
i 3
9000 3 3 : 11 11 11 11!
3d 2000 ! 5. 60 9 70% % o=
il o = ééooo : = 99 2000,2001
sedftvie = © % 100 ! .
°7 g | 25. 2002 ® sl B = 8000
-3 100 i (2003 + 2004) H 3ol B = 9000 +9000
4 ; =18000
=75% ; 8000 : 18000
ad 2003 | 4 : 9
wdf BT = 12000 L @ SeR Tl A
I B = 9000 | T H 2002 H Al D1 991 2003 H IA01 BT 1 TG &9
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